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1. Find	the	exponential	notation	of
✕ ✕ ✕ ✕ ✕ ✕5 5 5 5 5 5 5

(i) 27	 (ii) 56	 (iii) 77	 (iv) 58	 (v) 57	

2. Find	the	exponential	notation	of
✕ ✕-6 -6 -6

(i) (-8)3	 (ii) (-6)2	 (iii) (-3)3	 (iv) (-6)4	 (v) (-6)3	

3. Find	the	exponential	notation	of
✕ ✕-11 -11 -11

(i) (-14)3	 (ii) (-8)3	 (iii) (-11)4	 (iv) (-11)2	 (v) (-11)3	

4. Find	the	exponential	notation	of
✕ ✕ ✕11 11 11 11

(i) 114	 (ii) 134	 (iii) 115	 (iv) 94	 (v) 113	

5.
Find	the	exponential	notation	of

✕ ✕8
7

8
7

8
7

(i)

	 	 4

( 87 )
	 	 	

(ii)

	 	 3

( 87 )
	 	 	

(iii)

	 	 3

( 67 )
	 	 	

(iv)

	 	 3

( 107 )
	 	 	

(v)

	 	 2

( 87 )
	 	 	

6. Simplify	the	expression ✕35	 35	

(i) 510	 (ii) 311	 (iii) 39	 (iv) 310	 (v) 1

7. Simplify	the	expression ✕6-8	 6-8	

(i) 8-16	 (ii) 6-15	 (iii) 3-16	 (iv) 6-17	 (v) 6-16	

8. Simplify	the	expression ✕(-6)9	 (-6)9	

(i) (-8)18	 (ii) (-6)17	 (iii) (-4)18	 (iv) (-6)18	 (v) (-6)19	

9. Simplify	the	expression ✕ ✕66	 66	 65	

(i) 417	 (ii) 617	 (iii) 616	 (iv) 917	 (v) 618	

10. Simplify	the	expression ✕(-2)-5	 (-2)-9	

(i) (-2)-14	 (ii) (-5)-14	 (iii) (-2)-12	 (iv) (-2)-13	 (v) (-2)-15	



11. Simplify	the	expression ✕ ✕79	 69	 59	

(i) 2129	 (ii) 21010	 (iii) 2108	 (iv) 2089	 (v) 2109	

12. Simplify	the	expression ✕ ✕6-5	 3-5	 5-5	

(i) 87-5	 (ii) 92-5	 (iii) 90-5	 (iv) 90-6	 (v) 90-4	

13. Simplify	the	expression ✕ ✕(-4)6	 (-3)6	 (-9)6	

(i) (-108)7	 (ii) (-108)6	 (iii) (-110)6	 (iv) (-106)6	 (v) (-108)5	

14. Expand	the	following	base	power25	
(i) 64 (ii) 16 (iii) 4 (iv) 32 (v) 1024

15. Expand	the	following	base	power4-5	

(i) 1
32 (ii) 1

4096 (iii) 1
256 (iv) 1

7776 (v) 1
1024

16. ( ✕ ) =7 -6 9/5
	

(i)
(95)
7 	 	
	 	 	

(95)
(-8) 	 	
	 	 	

✕ (ii)
(95)
7 	 	
	 	 	

(95)
(-6) 	 	
	 	 	

✕ (iii)
(95)
7 	 	
	 	 	

(97)
(-6) 	 	
	 	 	

✕ (iv)
(95)
7 	 	
	 	 	

(95)
(-3) 	 	
	 	 	

✕ (v)
(95)
7 	 	
	 	 	

(-6)3	✕

17. ( ✕ ✕ ) =3 -3 5 6/5
	

(i)
(65)
3 	 	
	 	 	

(65)
(-1) 	 	
	 	 	

(65)
7 	 	
	 	 	

✕ ✕ (ii)
(65)
3 	 	
	 	 	

(65)
(-6) 	 	
	 	 	

(65)
3 	 	
	 	 	

✕ ✕ (iii)
(65)
3 	 	
	 	 	

(65)
(-3) 	 	
	 	 	

(65)
5 	 	
	 	 	

✕ ✕ (iv)
(65)
3 	 	
	 	 	

(67)
(-3) 	 	
	 	 	

(67)
5 	 	
	 	 	

✕ ✕

(v)
(65)
3 	 	
	 	 	

(-3)2	 52	✕ ✕

18. ( ✕ ) =-7
1

9
2

5
	

(i) (-7)5	

	 	 5

( 92 )
	 	 	

✕ (ii) (-7)5	

	 	 6

( 92 )
	 	 	

✕ (iii) (-7)5	

	 	 5

( 72 )
	 	 	

✕ (iv) (-7)5	

	 	 4

( 92 )
	 	 	

✕ (v) (-7)5	

	 	 5

( 112 )
	 	 	

✕

19. =

	 	 3

( 92 )
	 	 	

(i)
92	

23	
(ii) 93	

2
(iii)

93	

53	
(iv)

94	

23	
(v)

93	

23	



20. =

	 	 -4

( 83 )
	 	 	

(i)
8-5	

3-4	
(ii) 8-4	

1
(iii)

8-4	

3-4	
(iv)

8-4	

5-4	
(v)

8-3	

3-4	

21. =

	 	 (6/5)

(-78 )	 	

	 	 	 	 	

(i)

(65)
(-7) 	 	
	 	 	

(65)
6 	 	
	 	 	

(ii)

(-7)2	

(65)
8 	 	
	 	 	

(iii)

(65)
(-7) 	 	
	 	 	

(65)
8 	 	
	 	 	

(iv)

(67)
(-7) 	 	
	 	 	

(65)
8 	 	
	 	 	

(v)

(65)
(-7) 	 	
	 	 	

(65)
11 	 	
	 	 	

22. =

	 	 8

( 72 )
	 	 	

	 	 4

( 72 )
	 	 	

(i)

	 	 4

( 92 )
	 	 	

(ii)

	 	 4

( 52 )
	 	 	

(iii)

	 	 5

( 72 )
	 	 	

(iv)

	 	 3

( 72 )
	 	 	

(v)

	 	 4

( 72 )
	 	 	

23. =

(32)
7 	 	
	 	 	

(32)
7 	 	
	 	 	

(i) 7-2	 (ii) 7 (iii) 7-1	 (iv) 73	 (v) 1

24. =[(-4)4	 ]2

(i) (-4)9	 (ii) (-4)7	 (iii) (-4)8	 (iv) (-7)8	 (v) (-1)8	



25. The	multiplicative	inverse	of 	 	 is5-7	

(i) 1 (ii)

	 	 7

( 15 )
	 	 	

(iii) 57	 (iv) 0 (v) (-5)-7	

26. The	multiplicative	inverse	of 	 	 is

	 	 2

( 15 )
	 	 	

(i) 0 (ii)

	 	 2

( -15 )
	 	 	

(iii)

	 	 -2

( 15 )
	 	 	

(iv) 5-2	 (v) 1

27. Which	of	the	following	statements	are	true?

a) 	=	 x
xm

xn
m
n

b)
n
	=	

m( xm) ( x n)
c) 	=	am. a n amn

d) a 0 	=	 1 	 (a≠0)

e) 	=	a. xm am. xm

f)
n
	=	( xm) x(m+n)

(i) {a,d,b} (ii) {c,d} (iii) {b,d} (iv) {e,f,b} (v) {a,b}

28. -18=
(i) ∞ (ii) -1 (iii) 0 (iv) 1 (v) undefined

29. -15=
(i) 1 (ii) ∞ (iii) 0 (iv) undefined (v) -1

30. 100=
(i) 0 (ii) undefined (iii) ∞ (iv) 1 (v) -1

31. 00=
(i) -1 (ii) ∞ (iii) 1 (iv) undefined (v) 0

32. -60=
(i) -1 (ii) 1 (iii) undefined (iv) ∞ (v) 0

33. 04=
(i) ∞ (ii) undefined (iii) -1 (iv) 0 (v) 1



34. Find	the	reciprocal	of 	44	

(i)

	 	 4

( 34 )
	 	 	

(ii)

	 	 3

( 14 )
	 	 	

(iii)

	 	 5

( 14 )
	 	 	

(iv)

	 	 4

( -14 )
	 	 	

(v)

	 	 4

( 14 )
	 	 	

35. Find	the	reciprocal	of 	

	 	 2

( -62 )
	 	 	

(i) ( -26 ) (ii)

	 	 2

( -23 )
	 	 	

(iii)

	 	 4

( -26 )
	 	 	

(iv)

	 	 2

( -26 )
	 	 	

(v)

	 	 3

( -26 )
	 	 	



 1)	(v)  2)	(v)  3)	(v)  4)	(i)  5)	(ii)  6)	(iv)

 7)	(v)  8)	(iv)  9)	(ii)  10)	(i)  11)	(v)  12)	(iii)

 13)	(ii)  14)	(iv)  15)	(v)  16)	(ii)  17)	(iii)  18)	(i)

 19)	(v)  20)	(iii)  21)	(iii)  22)	(v)  23)	(v)  24)	(iii)

 25)	(iii)  26)	(iii)  27)	(iii)  28)	(iv)  29)	(v)  30)	(iv)

 31)	(iv)  32)	(ii)  33)	(iv)  34)	(v)  35)	(iv)
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